Formula Sheet


TRANSPORT FORMULAE

For each formulae:

a) write out the formula in words,

b) write out the formula in symbols, 

c) include the magic triangle

d) write out the units for each one

The first one is completed for you!

1.
speed, distance and time
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2.
instantaneous speed, length and time
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3.  acceleration, change in speed and time

a) 
[image: image12.wmf]change)

(for 

 

time

speed

in 

 

change

on

accelerati

=


b) 
[image: image13.wmf]t

v

a

D

=


c) 
[image: image14.wmf]t

a

v

´

D


d) 
[image: image15.wmf]seconds

second

per 

 

metres

 

 

squared

 

second

per 

 

metres

=






[image: image16.wmf]s

m/s

m/s

2

=


4.   acceleration, final velocity, starting velocity and time
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5.
acceleration, from a velocity time graph (do only parts a), d))
a)   
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6.
Distance travelled from a velocity time graph (do only parts a), d))

a) distance travelled 
= area under a v – t graph






= (b×h) or 
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(b = base,h= height) 

d)
metres = metres per second × second
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7.
Weight, mass and gravitational field strength

a) Weight = mass × gravitational field strength

b) 
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d)
Newton = kilogram × Newtons per kg


N = kg ×N/kg

8.
Stopping distance, thinking distance, braking distance, speed

a) Stopping distance 
= thinking distance + braking distance

= 
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d)
metres = (metres per second× seconds) + (metres per second × seconds)
m = (m/s × s) + (m/s × s)

9.
Force, mass and acceleration

a) Force = mass × acceleration

b)
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c)
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d)
newtons = kilograms × metres per second squared


N = kg × m/s2
10.
Work done, force and distance

a)  
work done = force × distance
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d)
Joules = newtons × metres


J = N × m

11.
gravitational potential energy, mass, gravitational field strength and height.

a) gravitational potential energy = mass × gravitational field strength × height

b)
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d)
Joules = kilograms × newtons per kilogram×metres

J = kg × N/kg × m

12. 
kinetic energy, mass and speed

a)  
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d)
Joules = kilograms × (metres per second) squared

J = kg × (m/s) 2
13. 
Kinetic energy, potential energy

a) potential energy lost = kinetic energy gained

b)
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d)
joules = joules


J = J

From equation b) we can derive:
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or speed = square root of (2 × gravitational field strength × height)





metres per second = square root of (newtons per kilogram × metres)
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14. Power, energy (or work done) and time

a) Work done = power × time

b)
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d)
joules = watts×seconds





J = W × s

Momentum before = momentum after
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